BORILLA oPORTS

Flat Bench (10000109)




“PUORILLA oPORTS

Washer: (910) Hex Nut: (M10) Washer: (#8)
© © ©
4x 2X 3x

Hex Bolt: (M10*85)
[

2X

Hex Bolt: (M8*65)

HUD
3X

LI

Spanner

ISR S)




“PUORILLA oPORTS

Dimensions complete: 110 cm x 60 cm x 48 cm
Maximum loading: 400KG




H @ Hex Bolt (M10%85)-2PCS
N\

©

N/

Washer (¢10) —4PCS Hex Nut (M10)—-2PCS




SOdS— (89) IoUsej

SOdE— (G9*8IK) 3104 XOH

T




	10000109(安装说明书) Model (1)
	10000109(安装说明书) Model (2)
	10000109(安装说明书) Model (3)
	10000109(安装说明书) Model (4)
	10000109(安装说明书) Model (5

